Case # BX-10-2 - BXMER - 

Chapter 10 - Flight Rules

Event: World Hot Air Airship Championship - 1998
BX-10-2 Complaint Letter

Complaint on Task #3 - Target S
This complaint concerns events during the flight specified above and the following scoring. 

At target S located west of the airport runway a mid-air collision occurred between competitor #1 and #2. It is clear that under the circumstances competitor #2 did not do everything possible to avoid the collision (10.2.1). In fact his maneuvering may have caused the collision. 

It might be argued that #2 got a competitive advantage by his action and the collision, while at the same time causing a disadvantage for #1, The argument is as follows. By the collision #2 was rotated more quickly and his intent was to turn. He then used #1 to accomplish the turn faster as any delay was of importance to the increasing wind. #1's position was abruptly turned away and hence delayed to go to target S. Thus a competitive disadvantage. #2 turned right and accelerated by a side wind into #1's nose. His option was to turn left or move forward before turning right.
Competitor #1 

BX-10-2 Response to Complaint

As competitor #2 was in front of you on target, he had the right of way. The fabric to fabric collision, we do not believe was intentional. We did not penalize either competitor in this instance. As you are aware, you received a better result than #2 on this target and therefore no competitive advantage was obtained. 
Competition Director 

BX-10-2 Protest Letter:

To the Jury,

When airships are flying at high speed in strong winds with low ground speed it becomes very hard to be sure of the right of way rules. Therefore it is most important that all pilots do what they can to avoid collisions. At target S airship #2 was swinging around the target a lot. On several occasions he was higher than me and I expected him to leave the scoring area, but he did not. 

Normally a pilot never cuts the main engine during flight. A running engine is a running engine. When it gets crowded around targets and you have many airships just behind you it is unwise for safety reasons, and risky to stop your engine several times, and in windy conditions go backwards. 

There was no collision before airship #2 scored. After scoring airship #2 chose the only way of clearing the scoring area which would result in a collision. Even though I turned right as soon as I understood that airship #2 was turning right to leave, there was still a collision. 

Starting a complete new approach for target S was part of the delay that caused me not to score on target T.
Competitor #1 

BX-10-2 Jury Decision

Re: Protest on Penalty for task #3, Target S Cross
Based on interviews and evidence, the following determination was made. 

The events at Target S, including the proximity of pilot #1 queuing closely adjacent to pilot #2, the wind conditions and the actions of pilots #2 as he left target S, all contributed to the collision. 

Nether pilot was penalized nor does the Jury feel that they suffered any competitive disadvantage. 

The Jury denies the protest and voted to retain the protest fee.
The Jury 

